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 3
1
4  

 80 

     :

GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1)

Candidate must write first his / her Roll No. on the question paper compulsorily.

  (2)

All the questions are compulsory.

  (3)

Write the answer to each question in the given answer-book only.
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  (4)

For questions having more than one part, the answers to those parts are to be written 

together in continuity.

(5)

If there is any error / difference / contradiction in Hindi & English versions of the 

question paper, the question of Hindi version should be treated valid. 

 (6)      

    1 – 10 1 

    11 – 15  2 

    16 – 25 3 

   26 – 30

Part Question 

Nos. 

Marks per 

Question 

A   1 – 10 1 

B 11 – 15 2 

C 16 – 25 3 

D 26 – 30 6 

 

  (7) 27  30

There are internal choices in Q. No. 27 and 30. 

 (8)

‘ ’

Write on both sides of the pages of your answer-book. If any rough work is to be done, do 

it on last pages of the answer-book and cross with slant lines and write ‘Rough Work’ on 

them. 

  (9) 26

Draw the graph of Question No. 26 on graph paper. 
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 –  

PART – A 

 

1.     HCF  LCM : 12  336      84     

  

HCF and LCM of two integers are 12 and 336 respectively. If first integer is 84, then find 

the another integer. 

 

2. 6   10       

Find the sum of the first 10 multiples of 6. 

 

3.   sec A  cot A      

Express the trigonometric ratio sec A in terms of cot A. 

 

4.   tan A = 
15
8   sec A     

If tan A = 
15
8   , then calculate sec A. 

 

5.          4 : 9           

If the area of two similar triangles are in ratio 4 : 9, then find the ratio of their 

corresponding medians. 
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6.  8         P   - PQ   O        Q    

    OQ = 17   PQ     

A tangent PQ at a point P of a circle of radius 8 cm meets a line through the centre O at a 

point Q so that OQ = 17 cm, then find the length of PQ.  

 

7.  10.5 cm        7 : 8          

Draw a line segment of length 10.5 cm and divide it in the ratio 7 : 8, measure the two 

parts. 

 

8.          21 cm      5       

The length of the minute hand of a clock is 21 cm. Find the area swept by the minute 

hand in 5 minutes.  

 

9.      : 18 cm  10 cm              

        

The radii of two circles are 18 cm and 10 cm respectively. Find radius of the circle which 

has circumference equal to the sum of the circumferences of these two circles.  

 

10.                    ,  

          ?

Why tossing a coin considered to be a fair way of deciding which team should get the 

batting at the beginning of a cricket game ?  
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 –  

PART – B  

 

11.     (4, 2), (–1, –1)  (–4, 4)       

Show that the points (4, 2), (–1, –1) and (–4, 4) are the vertices of a right angle triangle.  

 

12.  18                       
      

A solid cylinder whose diameter is 18 cm and a solid sphere of the same diameter. If 

volumes of both are equal, then find the height of the cylinder.  

 

13.    20     ( )   :

  ( ) 25-40 40-55 55-70 70-85 85-100 

   2 3 4 3 8 

       

The following table gives the literacy rate (in percentage) of 20 cities :   

Literacy Rate (in %) 25-40 40-55 55-70 70-85 85-100 

Number of Cities 2 3 4 3 8 

 Find the mean literacy rate. 
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14.    P    Q   180   60 /     15    
             5 ,    8 ,  
  11        47      Q      
   ?       

A car travels 180 km distance from a place P to place Q, at a uniform speed 60 km/hr 

passes through all fifteen green traffic signals. Due to heavy traffic it stops for                 

5 minutes at first signal, 8 minutes at second signal, 11 minutes at third signal and so on 

stops for 47 minutes at fifteenth signal. How much total time it takes to reach at the    

place Q ? Solve by suitable mathematical method. 

 

15.     15         CCTV          
113                     
   ?

For traffic control, a CCTV camera is fixed on a 15 m straight pole. The camera can see 

113 m distance sight line from the top. Find the traffic area visible by the camera around 

the pole.   

 

 –  

PART – C 

 

16.    3 – 5     

Show that 3 – 5 is an irrational number. 

 

17.   x2 – 2                   
 

Find the zeroes of the polynomial x2 – 2 and verify the relationship between the zeroes 

and co-efficients.  
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18.  ` 3,000    6%                
       A.P.    ?   ,                     
25        

A sum of ` 3,000 is invested at 6% simple interest per year. Calculate the interest at the 

end of each year. Do these interests form an A.P. ? If so, find the interest at the end of      

25 years making use of this fact. 

 

19.  120 m      -              
            : 60°  30°       
       

Two poles of equal heights are standing opposite each other on either side of the road, 

which is 120 m wide. From a point between them on the road, the angles of elevation of 

the top of the poles are 60° and 30°, respectively. Find the height of the poles and the 

distances of the point from the poles.  

 

20.            -      

Prove that the lengths of tangents drawn from an external point to a circle are equal.  

 

21.  4 cm      5 cm           -   
               

Construct a tangent to a circle of radius 4 cm from a point on the concentric circle of 

radius 5 cm and measure its length. Also verify the measurement by actual calculation.    

 

22.  14 cm          45             
   -     

In a circle of radius 14 cm, an arc subtends an angle of 45° at the centre. Find the length 

of arc and area of the sector formed by the arc. 
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23.  20 cm    15 cm           60 cm    
           

A silver cylinder of diameter 20 cm and height 15 cm is converted into a rod of length     

60 cm of uniform thickness. Find the thickness of the rod.  

 

24.         40       :

 ( ) 30-35 35-40 40-45 45-50 50-55 55-60 

   5 6 8 9 7 5 

      

The distribution below gives the weights of 40 students of a class :  

Weight (in kg) 30-35 35-40 40-45 45-50 50-55 55-60 

Number of Students 5 6 8 9 7 5 

 Find the median weight of the students.  

 

25.    17   272                 
           ,             

 (i)    

 (ii)        

17 defective pens are accidentally mixed with 272 good ones. It is not possible to just 

look at a pen and tell whether or not it is defective. One pen is taken out at random from 

this lot. Determine the probability that the pen taken out is  

 (i) a good one 

 (ii) not a good one 
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 – 

PART – D 

 

26.  3 kg   4 kg      ₹ 38         5 kg   7 kg 

   ` 65                  

The cost of 3 kg of apples and 4 kg of grapes on a day was found to be ` 38. At the same 

rate after a month, the cost of 5 kg of apples and 7 kg of grapes is ` 65. Represent this 

situation algebraically and solve graphically.  

 

27.        481 m2        4 m ,       
 

Sum of the areas of two squares is 481 m2. If the difference of their perimeters is 4 m, 

find the sides of the two squares.   

 / OR 

                  36     
  4      2    ,      360   
          

In a class test, the sum of a student’s mark in Mathematics and English is 36. Had he got 

4 marks more in Mathematics and 2 marks less in English, the product of their marks 

would have been 360. Find his marks in the two subjects.   

 

28.      

(i) cosec A (1 – cos A) (cosec A + cot A) = 1  

 (ii) 
cos  – 2 cos3 
2 sin3  – sin    = cot 

Prove that : 

(i) cosec A (1 – cos A) (cosec A + cot A) = 1  

 (ii) 
cos  – 2 cos3 
2 sin3  – sin    = cot 
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29.          (5, 3), (–3, –3)  (5, –3)        
     

Find the area of that triangle whose vertices are (5, 3), (–3, –3) and (5, –3). Also prove 

that it is a right angle triangle.  

 

30.                    
 

Prove that the ratio of the areas of two similar triangles is equal to the square of the ratio 

of their corresponding medians. 

 / OR 

                    
    

 Prove that line joining the mid points of any two sides of a triangle is parallel to the third 

side.  

____________ 
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